

## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

## ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. YQ 5888L

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER (N)	MISSING	1,320.00	1,320.00
2	FRONT BUMPER BRACKET @ SGD 255.00 (N)	NOT NECESSARY	510.00	-
2	FRONT BUMPER LAMP @ SGD 386.70 (N)	NOT NECESSARY	773.40	-
1	FRONT CROSS MEMBER (N)	TO REPAIR SEE LABOUR	2,278.00	-
2	HEADLAMP ASSY @ SGD 786.00 (N)	NOT NECESSARY	1,572.00	-
1	FRONT GRILLE BASED (N)	CRACKED	598.00	598.00
1	FRONT GRILLE LOGO (N)	NECESSARY	75.00	75.00
1	FRONT GRILLE OUTER GARNISH (N)	CRACKED	495.00	495.00
1	FRONT CENTRE PANEL (N)	BENT	1,286.00	1,286.00
1	FRONT CENTRE INNER PANEL (N)	BUCKLED	1,562.00	1,562.00
1	FRONT CENTRE PANEL EMBLEM (N)	NECESSARY	102.00	102.00
1	FRONT WIPER OUTER PANEL (N)	BENT	325.00	325.00
1	FRONT WIPER INNER PANEL (N)	BENT	586.00	586.00
1	FRONT WIPER LINKAGE (N)	BENT	420.00	420.00
2	FRONT WIPER ARM @ SGD 112.53 (N)	BENT	225.06	225.06
1	FRONT WIPER MOTOR (N)	NOT NECESSARY	386.00	-
1	FRONT WINDSCREEN GLASS (N)	SHATTERED	2,950.00	2,360.00
1	FRONT WINDSCREEN RUBBER (N)	NECESSARY	322.00	322.00
2	FRONT WINDSCREEN PILLAR @ SGD 404.52 (N)	DENTED	809.04	809.04
1	FRONT WINDSCREEN WASHER TANK (N)	CUT/DEFORMED	296.10	296.10
2	FRONT SIDE CORNER PANEL @ SGD 490.00 (N)	O/S CUT/ DISTORTED	980.00	490.00
2	FRONT SIDE CORNER PANEL LAMP @ SGD 295.00 (N)	NOT NECESSARY	590.00	-
1	WING MIRROR ARM N/S (N)	BENT	386.00	386.00
1	WING MIRROR ARM MOTOR ASSY N/S (N)	SHORTED	415.82	415.82
1	WING MIRROR GLASS N/S (N)	MISSING	198.00	198.00
1	WING MIRROR ARM O/S (N)	NOT NECESSARY	311.70	-
1	FRONT DOOR N/S (N)	BUCKLED	1,744.50	1,744.50
1	FRONT DOOR INNER LOCK N/S (N)	DISTORTED	355.42	355.42
1	FRONT DOOR WEATHERSTRIP N/S (N)	NOT NECESSARY	229.00	-

Report Ref No. CS3/EGI22009324/Dvy3m4-1



## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

lty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT DOOR INNER TRIM N/S (N)	NOT NECESSARY	371.40	-
1	FRONT DOOR PILLAR N/S (NPA) (N)	TO REPAIR SEE LABOUR	-	-
1	FRONT DOOR O/S (N)	BUCKLED	1,699.00	1,699.00
1	FRONT DOOR INNER LOCK O/S (N)	NOT NECESSARY	355.42	-
1	FRONT DOOR WEATHERSTRIP O/S (N)	NOT NECESSARY	229.00	-
1	FRONT DOOR INNER TRIM O/S (N)	NOT NECESSARY	397.15	-
1	FRONT DOOR PILLAR O/S (NPA) (N)	TO REPAIR SEE LABOUR	-	-
1	FRONT DASHBOARD ASSY (N)	CUT/DISTORTED	1,964.20	1,964.20
1	RADIATOR RESERVOIR TANK (N)	DISTORTED	225.00	225.00
1	AC COOLING COIL ASSY (N)	WARPED/ CRACKED	2,710.00	2,600.00
1	AC BLOWER ASSY (N)	CRACKED	2,187.00	1,800.00
2	TAILLAMP ASSY @ SGD 595.20 (N)	NOT NECESSARY	1,190.40	-
2	TAILLAMP BRACKET @ SGD 218.90 (N)	NOT NECESSARY	437.80	-
	LESS 10% DISCOUNT		-	-2,265.91
			33,867.41	20,393.23
	SPECIAL NETT ITEMS			
1	SUNDRIES (SN)	NECESSARY	50.00	30.00
1	FRONT WINDSCREEN PRIMER & CLEANER (SN)	NECESSARY	120.00	40.00
1	FRONT WINDSCREEN SEALANT (SN)	NECESSARY	150.00	80.00
1	FRONT WINDSCREEN INNER SEAL (SN)	NECESSARY	175.00	30.00
2	SET FRONT DOOR INNER TRIM CLIPS @ SGD 65.00 (SN)	NOT NECESSARY	130.00	-
1	REAR REINFORCEMENT BAR (SN)	NOT NECESSARY	1,486.00	-
1	SET REAR HYDRAULIC PLATFORM MECHANISM (LOCAL REPAIR) (SN)	MALFUNCTION	12,800.00	1,000.00
1	RADIATOR COOLANT (SN)	NECESSARY	186.00	30.00
1	AC FLUID (SN)	NECESSARY	120.00	120.00
1	FRONT NUMBER PLATE WITH GARNISH (SN)	NOT NECESSARY	80.00	-
			15,297.00	1,330.00



## **LKK Auto Consultants Pte Ltd**

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	<u>LABOUR</u>			
	TO DISMANTLE / RENEW REAR ACCIDENT DAMAGED PORTION. TO PANEL BEATING, RESHAPE, STRAIGHTEN, ORIENTATE AND ALIGN REPAIR / REPLACEMENT PARTS.		1,200.00	350.00
	TO DISMANTLE / RENEW FRONT ACCIDENT DAMAGED PORTION. TO PANEL BEATING, RESHAPE, STRAIGHTEN, ORIENTATE AND ALIGN REPAIR / REPLACEMENT PARTS. INCLUSIVE OF THE REPAIR OF FRONT CROSS MEMBER, FRONT DOOR PILLAR N/S AND FRONT DOOR PILLAR O/S.		2,500.00	1,750.00
	TO DISCONNECT WIRE HARNESS OF ELECTRICAL COMPONENT TO FACILITATE REPAIRS, RECONNECT AND CHECK FUNCTIONS.		80.00	60.00
	TO REMOVE AND REFIT INTERIOR UPHOLSTERY TO FACILITATE THE REPAIR.		200.00	50.00
	TO REMOVE AND REPLACE FRONT DASHBOARD.		280.00	200.00
	TO REMOVE AND REFIT N/S FRONT DOOR COMPONENT TO REPLACE N/S FRONT DOOR, CHECK AND ALIGNMENT.		120.00	50.00
	TO REMOVE AND REFIT O/S FRONT DOOR COMPONENT TO REPLACE O/S FRONT DOOR, CHECK AND ALIGNMENT.		120.00	50.00
	TO DISMANTLE / RENEW THE A/C COOLING COIL SYSTEM TO ORIENTATE AND ALIGN REPLACEMENT PARTS.		300.00	100.00
	TO REMOVE AND REFIT FRONT WINDSCREEN TO REPLACE REAR WINDSCREEN.		200.00	150.00
	TO APPLY UNDERCOATING ON THE ACCIDENT REPAIR AND REPLACED PANEL FOR RUST PROTECTION.		200.00	30.00
	SUPPLY SPRAY PAINT MATERIAL AND NECESSARY ITEMS TO RESPRAY FRONT BUMPER, FRONT CENTRE PANEL, FRONT CENTRE INNER PANEL, FRONT SIDE CORNER PANEL, FRONT WINDSCREEN PILLAR, FRONT DOOR, WIPER PANEL AND OTHER AFFECTED AREA / PANEL.		2,500.00	1,400.00
			7,700.00	4,190.00
	GRAND TOTAL		56,864.41	25,913.23



Page No.:4 of 4

RECOMMENDED COST OF LUMP SUM REPAIRS		20,700.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS3/EGI22009324/Dvy3m4-1



**Automotive Assessor / Investigator**